900 MHz External Antenna Datasheet CG p/n 76-36391

7.1 ENVIRONMENTAL CONDITIONS:

The temperature at the time of the test was 24°C and the relative humidity was 33%.
7.2. RETURN LOSS
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Trcl 511 dBMag 1 dBf Ref 0 dB Cal 1
M1 | 302.000000 MHz -3.8036 dB
M2 | 915.000000 MHz -4.7163 dB
+M3 | 928.020000 MHz -5.4221 dB
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7.3 Measurements

FREESPACE
By (ML) Peak l-3ain Dlrectl-wty Total Radiated Power| Total Efficiency
(dBi) (dBi) {(dBm) (%)
902MHz 41 88 47 335
915MHz 51 9 -39 40 5
928MHz 57 92 -35 44 6
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Frequency in MHz

@S Efficiency Peak Gain
EXPANDED TABLE
Frequency (MHz) 200 902 904 906 908 910 912 914 916 918 920 92 924 926 928 930
Tot. Rad. Pwr. (dBm) 4.9 4.7 -4.6 4.5 -4.3 42 | -41 -4 -3.9 -3.8 =37 =37 -3.6 =35 -3.5 -3.5
Peak EIRP (dBm) 3.7 41 41 43 44 46 47 51 52 53 52 55 56 5.8 57 5]
Directivity (dBi) 8.6 6.8 BT 8.8 BT B8 8.8 91 91 a1 9 91 82 9.3 92 9.5
Efficiency (dB) 49 47 4.6 45 4.3 42 | 41 -4 -39 -38 3T 3T -36 =35 -3.5 -3.5
Efficiency (%) 322 | 335 | 345 | 357 kr 38 38.9 40 409 | 41.8 | 424 | 431 | 437 | 442 | 448 45
Gain (dBi) 3.7 4.1 4.1 4.3 44 46 4.7 51 5.2 5.3 5.2 5.5 5.6 5.8 5.7 <]
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8.2. 3JDPLOTS
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928MHz
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